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I spent €398 o fuit, €67 on vegetobles and €2:84 on swees,
How much did | spend altogether?

Joe had €9.46 and Jone had €12.35.
How much more had Jane than Joe?

Peter had £20. He bought a te for €14-64.
How much money had he Left?

Sally had €50. She spent €18-67 in one shop and
€14:89 in another. How much money had she left?

Susan hod €45.63
Her dod gave her €27.86,

How much more does she need to buy the coot?

A spade costs €7:65.
What is the cost of 5 spades?

Arain ticket costs €9.45.
What is the cost of 7 tickets?

A book costs €871,
Wha is the cost of 9 books?

Joe spent €9.78 buying 6 pens.
Wha was the costof each pen?

Five cokes cost €8.95.
How much should two cakes cost?

I have €43.89. How much more do | need to buy 7 footballs
costing €7.95 each?

Paul got €2:28 change from €10 when he bought 4 comics
Wha wos the cost of cach comic?






